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CNC Operator Level 1

Q 1) In C N C machine tool, the part program entered into the computer memory—m

TR IUHROT H, HUex AU | Uex fovar ar uré U §

1) Can be used only once/dHad U TR Eﬁtﬂﬁ foan s g@dn %
2) Can be used again and again/dR-dX 3@1:”?[ foar S gedn %
3) Can not be usedEﬁTﬂT“f :Igbfﬁ?_zﬂ Sl Hoh dl

4) Cannot sayFI_sgf ] qohd

Q 2) In N C machine tool, the position feedback package is connected with?/T- 4t g=fiF
J a AN i
IUHR H, Ul Wiead Udbel 3D A1 JST §37T 82

1) Control unit and machine tool/frA=TT EEFI_‘Q; 3R 7= IuHRur

2) Control unit and programmer/ﬁl’da'UT ng 3R TR

3) Programmer and machine tool/SRITHR 3R TR JuHUT

4) Programmer and process planning /AR 3R Ufhar &) QST ST

Q 3) Commonly used M-Code for end of sub program is ----------- /9 IR & 3fd & fag
U M-h[S gIdHI foar ST %

1) M 00/3H 00
2) M 99/TH 99
3) M 98/TH 98
4)M 97/TH 97

Q 4) Commonly used G-Code for thread cutting mill cycle is ----------- /S DT i

TG & ol THIR TR G-PIS BT SWHA o

1) G31/4131
2) G33/51133
3) G27/5127
4) G76/51176

Q 5) Commonly used M-Code for tool change mill cycle is /THAR TR ISR daa &
fo T I &1 XA fova e o6 3

1) M 00/TH00
2) M 06/TH06
3) M 02/3H 02
4) M 03/TH 03

Q 6) Commonly used M-Code for coolant off cycle is ----------- /3ITAAR TR TN far oA
I M-1S & foIT paie 3P Irawa g

1) M 00/3H 00
2) M 09/TH 09
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3) M 02/3H 02
4) M 03/TH 03

Q 7) In 30 H7 form of tolerance 30 stands for-------- /30 U7 SleRd & BTH & 30 Eﬂ% 1%1?

1) Basic size/HcT S{IPR
2) Grade of tolerance/CIRY BT IS
3) Fundamental tolerance/t STHC CI¢iRY

4) Fundamental deviation/TSHCd SIAURH

Q 8) Commonly used G-Code for fine boring cycle is ----------- J3THAR TR TSI
TS d & I G-HIS &1 TXAT [HaT 8

1) G 70/5Tt 70
2) G 76/SH 76
3) G 73/ 73
4) G 71/51 71

Q 9) Commonly used G-Code for rough turning cycle is ----------- R i1 arasd & ferg

G-PIE BT TXHT b 8

1) G 70/SH 70
2) G 71/ 71
3) G 73/ 73
4) G 76/S1t 76

Q 10) Full form of U P 8-/ 41 T8 &1 Hd BiH

1) UNINTERREPUTED POWER SUPPLY/3{5cXVS IR IwlTg
2) UNIT OF POWER SUPPLY e 3 TR q@Ts

3) UNIFORM POWER SUPPLY /At UTaR I@Tg

4)BOTH 1 & 2/1 3R 2 A1

Q 11) Full form of CPU/TUY &1 B B1H

1) Central processing umt/@??’f R Qﬁ?

2) Computer printer umtm iR 2ZI;EITi'
3) Control pointer unlt/a@?‘[ WigeR Zl;ﬁ?

4) None of theseE_fI'a[ I ﬁ's‘ b} Tsﬁ
Q 12) NC contouring is an example of/3 T ﬁ'_g’&lﬁ_"[ TH 3aTER01 8

1) Continuous path p031t10n1ngf0|'7l%§3fm 1y gifT EEIIEPI

2) Point to point posmonlng/lHIE_C' [} 1313_(:'
3) Absolute positioning

4) Incrmental positioning@%ﬁ?ﬁ SIISEIRH
Q 13) Commonly used G-Code for deep drilling is ----------- AT |3|%1‘I & ﬁm AR R
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BT SIHA G-DIS g

1) G 82/5it 82
2) G 83/5it 83
3) G 85/51t 85
4) G 87/ 87

Q 14) The widely used type of functional key---/TaRTd D! BT AUH ¥ s@mm
[ERIECAN

1) F6/TW6
2) CTRL/AICISRTA
3) ALT/UTAC!

4) ESC

Q 15) The life of cutting tools can be increased by/d”i?‘l e P NIERE 5{1@1 de qehl] %

1) Optimum cutting speed/ AT Hidn wWe

2) Higher rake angles/3™ B I

3) High pressure cutting fluid/3= qld P Uy s
4) All of these/d T

Q 16) The cutting speed of carbide is __ times faster than Carbon steel/ d)IGITSS & Pl

BTG § P Tt Bl gaT o T a9 8

12
2) 4
3)6
4)8

Q 17) Which of the following cutting conditions greatly affects the surface finish of

%pgceﬁaﬁﬁﬁ?@Wﬁ@rﬁrWﬁWﬁﬁﬁmaﬁ 3ferH JHIfad
?

1) Cutting speed@l?ef CHRIIG]

2)F eed/ IS
3) Depth of cut/dhc P TIETI_st
4) None of theseﬂ_"lﬁ I ﬁ‘s‘ b} :Iﬁ

Q 18) In up milling, the thickness of chip is/3d ffERT &, forg &t Mers §

1) Minimum at the beginning of the cut/®c Gl R[> SHId e YIdH
2) Maximum at the beginning of the cut/C Gl Q[ SHTd o i dd
3) Uniform throughout the cut/qg ®C P TR Th JAH

4) None of theseE_"Iﬁ I aﬁs‘ b :lzﬁ

Q 19) The slot mill cutter is having number of flutes as----- /&re fd dex o Ul Gl

SRR R - S—

1)2
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2)4
3)6
4)8

Q 20) Pinion can be made by/ﬁﬁm b GRI ST ST Jabel %

1) Hobbing@ﬁ'ﬂ

2) Shaping with pinion cutter/fUfAT ®Hex J AfUT
3) Shaping with rack cutterR® Hex I AT

4) Mllllng/mﬁ’m

Q 21) High speed tools usually have/3= Tfa IUHON § IR W B

1) Negative rake angleﬁfﬁﬁa I® WA
2) Positive rake angleﬂﬁﬁa IH WA
3) Any rake anglem_sc WP WA

4) No rake angle@bﬁ_’iﬁ G WA qﬁ

Q 22) The use of coolant is/RNdd® BT TN %

1) Increase the tool life/¢cl <l Cal deldl %

2) Produce better surface ﬁmsh/é%?ﬂ ﬂ% o fa=T §FTdT %
3) Both 1 & 2/ 3R 2 I

4) Prevent rise in temperature/cdTYHI | qﬂ& ARG %

Q 23) IN C NC M80 code represents/ATTH H THS0 1S 3T foT §

1) Cancel the mirror image/&lﬁ Eﬂ\_ﬂ Eal g hdl %
2) Machining operationfmiﬂﬁ'q SRR
3) Machining memoryﬂ:I'Qﬂﬁ"T EEER|

4) None
Q 24) In C N C G78 stands for---—----—-- [T S8 & forg

1) Mill internal thread/fie 3fidR® 98
2) Mill external thread/fId ST 9

3) Turn external thread/dTEXT IS TG
4) Nonemé 7'|_6Qf

Q 25) Which of the following code is used for reaming on C N C./Aet W SAftT & forw
T ¥ {59 DTS o1 yanT foparn irelt &2

1) G81/51181
2) G82/5i182
3) G85/S1185
4) G87/51187

Q 26) The end mill cutter is used for/IS fIT Fex 3P forw vawT forar ST 8
1) Key way cuttingﬁ q P
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2) Cutting thin slots/I3 Tdile HidT
3) Cutting off to length/&h I3 TdTs -a] HICI
4) Angle milling/UTc

Q 27) A key is NOT used while mounting a slitting saw is if the/Ud AT If & Ade
H THI TP B! A1 TN 1 78 &, g

1) Thickness of saw is more than 4 mm/ i &t tﬁ?l_ii£ 4 ﬁ[tﬁ ﬁ 3HfeH %
2) Key width is 4 mm/doil &1 AleTs 4 .4

3) Key width is less than 4 mm@rﬁ P In?lg e e A 2 %

4) Thickness of saw is less than 4 mm/l B In?lé R e A %

Q 28) Which gauge is used to measure the hole diameter-------------- 2/81d oI HIUH &
ST BT TR fasa ST 82

1) Feeler gauge/qﬂ?ﬁ S|
2) Wire gauge/dlax S|
3) Snap gauge

4) Plug gauge/WI’l S|

Q 29) The coolant used for machining cast iron workpiece is../RfTdd® AT HRe

3R I U o foru gxwTet foban 2fiderss @

1) Kerosene/hRITRH

2) Dry/R[l
3) Water,

4) Solubile oil/HTegad ddl

Q 30) Least count of a outside micrometer is/Tch T3CHITS Hliw\ll-l‘\lc{ P A BIIC %

1)0.01

2) 0.05 mm
3) 0.02 mm
4) 0.09 mm

Q 31) To check a taper surface the job should be clamped on/Udh IR Idg B i d R4 &

oI 1 39 WR iy fovan w1 =gy

1) Angle plate/TiTd we

2) Parallel blocks/UReTd sl
3) Dividing head fSaRfET B
4) Hand vice/8 8 CIERS

Q 32) End mill cutter get blunt due to--------- /3id fid dex m PHRUT &I gl STdl %

1) Coolant not used@'_cr EH Uqad
2) High speed/3= WIS
3) Less speed/@H e

4) None@’&f :i—Eﬁ
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Q 33) Which material is used for milling cutter/HTHT Hex & forg fore Tl &1 IuahT
ERISIEIN

1) High speed steel@lg e Wia
2) Mild steel/HATEee Wld

3) High carbon steel@l’ﬁc CACRESN]
4) Tool steel/gel i

Q 34) The unit of feed is-—--/T1S P! IPTS §

1) M/minute/@/&ltl?
2) MM/ rev/@:l'@:fﬁ_q’
3)CM/ sec/ A HLAH
4) ReV0lution/minuteﬁl_cﬁ?jl'_;-‘zl:[/[il:l_cr

Q 35) The process of enlarging the hole is----------- /3¢ & fawR @t ufepar 8

1) Counter boring/PT3cx EliRl
2) Counter sinking/®T3CX Rifdb
3) Boring

4) None of these/s_"lﬁ I aﬁé b} '_'|Ti>pf

Q 36) Which of the following cutting tool has highest red hardness?/f 9 & 9 &9 § Hic
Q?fff SdH AT Ho Rl 82

1) Ceramics/RRA®

2) Cast alloys/dRC fafsa

3) High speed steels/3=l T e
4) Carbon tool steel/@Ta cd I

Q 37) The gang milling is an operation of AT ThferT SUPT IR %

1) Producing grooves around the periphery of a work piece/Ud> JHUN I gRIT &
S{THUTH YTod I

2) Producing narrow grooves on a work piece/Ud> JHUN R G 10 Tey T 70T

3) Reproduction of an outline on a work piece/Uch JHUNT R Hl3ccllgd Cal Y g1

4) Machining several surfaces on a work piece simultaneously/Ud IHUN IR HHAR ﬁ
Gty & HRAFT AT

Q 38) ------ is equal to the differences of the two limits of size of the part/ U &

3THR P &l HHTSM B 3R P SRR §

1) Tolerance/CIeIRy

2) Low limit/&d HHT

3) High limit/3= AT

4) Design size/[SSTE HTHR

Q 39) Which of the following code is used for set actual position on C N C.@Q:Fﬁ W
aRafas Rufd Fufia w7 & fore Fa 3 3 iy oie &1 v fear Srar g
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1) GO
2) G17
3) G54
4) GO1

Q 40) Check list for Job Safety Analysis (JSA) consists of/ EI'TR:f{-R&‘IT fazcor &t (@WQ)
S gE A gH eIl o)

1) Work area, material, machine, tools/ Lo 8-33[ , “v‘l’lﬂ"ff, ﬂ?ﬂ:[, Gﬁ\_rﬂT
2) Men, machine, material, tools/ H™, ]:I'Qﬁ:[, m, 3R

3) Men, machine, work area, tools/ HIH™, H'Qﬂ:[, g 2-33[ , 3R

4) Men, work area. Material, tools/ H™, G 83[ , ﬂm‘/ﬂ, 3R

Q 41) Expand PPE:/ PPE &1 fa¥dR &<

1) Plastic Protection Equipment/ WIRe® YIcaRM Sfdudc
2) Pollution Particulate Emission / W%ﬁﬁ? Q&l’sﬂ:[
3) Personal Protective Equipment/ Oicfaed 3‘%@?
4) Proxy Path Emulator/ gl a1y Q’ﬂﬁﬂ

Q 42) Which of these are sources of air and noise pollution both?/ 371'1?[ | ag 3R eafy gt
TGN & T 1 32

1) Vehicles/ dig-

2) Compost pit/ Wl wTITGT

3) Speakers/

4) Carbon dioxide/ BT STS3HRITSS

Q 43) Which among these is not a greenhouse gas?/ 37“?[ J oIt IBRISRS eS| :lTSQF%‘?
1) Nitrogen/ '_‘IIEE’;lGH

2) Carbon monoxide/ BT nﬁraquss
3) Methane/ T

4) None of these/ ERCREIERE]

Q 44) Which type of surface can be produced by lathe?/ WRT¢ gIRT 59 UeR o1 Tdg
SIS o Tebell 82

1) Flat/ 9OTE

2) Cylindrical/ SCHIHR
3) Curvilinear/dh g

4) All of these/ T T

Q 45) What is the necessary condition for turning?/ = (MRIq Pl ?ﬁ?ﬂ) & forg smaza®
fRyfer o= g2

1) Material of work piece should be harder than the cutting tool/ HCTS 3R Bt Skl o
JbUTY BT yard g&d g AT

2) Cutting tool should be harder than the material of work piece/ IHUNg & yerdf e SNEL
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A PeTs NOR T&d g1 1T
3) Hardness of the cutting tool and material of work piece should be same/ ng 3R &

& SR aeb U 1 gard JHM g1 a1y
4) None of these/ sﬂﬁﬁaﬂ's‘ﬂ'@

Q 46) A chuck is attached to / Uch b | ST gIdT %|

1) Lathe spindle/ QRIq %ROI
2) Lathe apron/ WRIq THU
3) Lathe tool post/ WRTq E?f

4) None of these/ 37{3[ q aﬂ's‘ '_-|_6°f

Q 47) A taper may be defined as a uniform gradual  along the length of the job./ Udh

gq?aﬁqnjaﬁawr%é}?wuwwaﬁﬁaﬁ & =0 T R fasar S gaba
|

1) Increament/ Q'@
2) Decreament/ G|
3) Change /

4) None of these/ 370 I CAEEK

Q 48) Which of the following machine is superior to other machines as regards accuracy

and better surface finish?/ T Ibdl 3R IgdR Idg (AR b ey & R A I o @
= 3 TR 4 deR 7

1) Lathe/ WRIq
2) Drill/ fge

3) Shaper/ AR
4) Milling/ fofeiT

Q 49) Which of the following motion does a milling machine has?/ forfei =ity fAg k|

BT I g B /2

1) Vertical motion/ Seater T
2) Crosswise motion/ 3re-fore ifa

3) Longitudinal motion/ 317:1%9:([ T
4) All of these/ T T

Q 50) Which of the following is not true for taper turning?/ E:I'-Ef J TR AT &5 forg

I T8 82

1) Taper turning is one type of lathe operation/ TR T WRIE e BT Udh YhX %
2) The amount of taper is specified by the ratio of its length to the difference in the diameter

of the taper/ CUR &1 HHT Bl CUR H| TS o 31U U 39D A | SR gRI ey
EZISIGIN

3) Amount of taper is designated by the letter K/ K &R gIRI CIR &I AH ﬁ%@ﬁﬁlﬁﬁ%
4) None of these/ Ezl'ﬁf q aﬁé :rsﬁ

Q 51) Upmilling and downmilling are the subtype of milling process./ SafAfeT
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3R g3t farferT ufshar & SUUBR B

1) Peripheral milling/ ufefta fafer

2) Face milling/ By fafe

3) Both peripheral milling and face milling/ ufeftg farfei sik g fafei A ]
4) None of these/ ET'FE[ | ﬁs‘ T8l

Q 52) The thickness of the chip in upmilling is

yR B Sufhfe & g @) e gl g
1) Minimum/ <JddH

2) Maximum/

3) Close to zero/ T & BT
4) None of these/ 37{1}[ I aﬁé :rsﬁ

Q 53) More depth of cut can be used in milling process./ e uforan
H e P 31T TERTS TANT B Sl Febell g

1) Upmilling/ S{Of&fciT
2) Downmilling/ S{IREITATNE
3) Can’t say anything/ P& h&l ERESIESCI]

4) None of these/ BRI EIER]

Q 54) CNC machining centres do not include operations like / CNC HRAHT Tex

O BTl B IfRferd Tel T B

1) Milling/ f&feHRT
2) Boring/ ClIRYl
3) Welding/ afegT

4) Tapping/ U

at the beginning of the cut./ d<C &

Q 55) In CNC systems multiple microprocessors and programmable logic controllers

work / CNC YUTTell H Hee el HIgeh IR 3R UIUTHEd difeieh shelaiR |
BT BT g

1) In parallel/ HHIdX o

2) In series/ YTl |

3) One after the other/ Tch & G U

4) For 80% of the total machining time/ Pl TR 07T & 80% o forg

Q 56) The most common type of feed drives used on CNC machines is the:/ CNC AR

Tgad Yo H UHR P 1S gied it g

1) Electric servo motor./ $€1Ird\1;\0h 4l Hiex

2) Hydraulic drive./ STSSITA® 134

3) Manual crank./ ﬁq&m '

4) Manual/hydraulic system./ 'EFQGIFT/ EE@W P

Q 57) When referring to common CNC programming structures, which of the following is
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the best example of an end of lilock character;?/ g e QAT RT3 &l
Teftd Bd gAY, g 7 Q oI 91 <1 Hac & 3id Bl Ja 35T IaTe0 82

b;
2).

3}
4) end

Q 58) What does odd parity mean in reference to CNC terminology?/ ! rscrdett &
Hey o fawd ST &1 & o g2

1) Each program character is represented in rows containing odd number holes./ PG
T e I favH e g1 e ufckra o =it S 8

2) The number of wires from the controller to the hardware is always odd./ ﬁAT’R |
TSR AP AR| ! AT GHRT fawH et §

3) The RAM is sectioned off in odd divisions./ 3'5[ &I favm yrm o fawrforg fear man %

4) The hard drive is mathematically tuned to mathematical operations that result in odd

numbers./ BTS S13d 1 TOTHT w0 1 nordtg ufteram § firam s § o
ORUMARGRT TR fAuH gl &

Q 59) How are CNC G codes grouped?/ CNC G B89 ¥ UHR U fdl SI1d g2

1) According to their bit size./ 3P 9T ATHR & SR

2) According to their function./ 3% B & SR

3) Based on their sequence./ JP HH W TUTRT

4) Based on the number of significant digits./ IIEFFIUT 3! I T=T b YR TR

Q 60) When referring to the elements of word address CNC programming, a 1 bitis a

representation of an condition./ TS Q@AF CNC T & da@l i Hafid dHRd
guifec fRfesmEumaang

1) On/ 314

2) Emergency/ STUIdh el
3) Off/ 3TH

4) Ultimate/ 3{eciHe

Q 61) When referring to CNC programming, which of the following multiple hole patterns

is typically the simplest to program?/ CNC i &1 Yefid wvd gq, g o Qo
T gl T SR TR T & 7T Jed TR 8

1) An arc hole pattern./ Y 3TH MK Te+

2) A bolt hole circle./ T ST Bld Tfthd

3) A linear hole pattern./ el NIGEH Eﬁ?f T
4) An angular hole pattern./ Tdh WeR gd Te+

Q 62) Which of the following is true with respect to CNC machines and program storage

that uses perforated or punched tape?/ fsfed o1 ga U uaivT A areft one #=iF iR
T Rel & Tra & g & § ol 98t 32

1) The tape has to be fast forwarded or reversed to locate the required program./ ARG
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TITH 1 Ul ST & g <0 o1 dolt I 311 31 Uied g1 SHTaRash 3
2) It is historically the only medium for program storage and transfer/ T TR 3R

IHR & forg g Ui &P @ uhas My §

3) They can be used for storage large amounts of program data in a compressed form./ q

TUifed U & U STeT B aat A B YUfed HR & forg UaiT far o IabdT 8
4) They can be affected by viruses but have the largest storage capacity./ J IORY ¥ JHIad
B U g Al 370 gec TUSU 4T 8l &

Q 63) The cutting edges are spaced on the circumference of the cutter./ TR P
R R BT Ot AT

1) Equally/ JHIT

2) Unequally/ STHHTA

3) Joined/ \_{1% Y

4) None of these/ g:lﬁ I fbﬁ_sc '_'@)f

Q 64) Which of the following dividing head is also known as simple dividing head?/ g

I B [EarsfeT g8 i Riue fSarsfén g i &1 ol &

1) Plain dividing head/ i fgarsfége
2) Universal dividing head/ W fEarsféngs
3) Optical dividing head/ 3P d fEarEfEn s

4) All of these/ T T

Q 65) Which of the following best describes a PLC?/ 19 & ¥ 3T PLC &1 4&4 9§ JuiH
HIAT ]2

1) RAM connecting directly to binary loglc allowing machining logic./ AT AT ol
SFTATI &l §U ITE-RI ditordh § el st <A

2) It is a type of ROM that allows a programmed feedback loop./ g I BT Udh YhR %’ S
T U Wiga oU ) SA ol &

3) Its function is to develop signals from program data for driving servo motors./ RHPI Eap
Tl Hicy &I Te™ b forg Uiom sTeT 3 Rired Ua d=A1 g

%)?:[t élllows a CNC machine to be programmed./ dg CNC = & mufad Eﬁﬁ &I &Iﬂtlﬁf

Q 66) What does the semicolon symbol represent with CNC machines and basic addresses?/

CNC TR 3R 9 U39 & W1y YHidIaq Rigd 31 e=ifdl g2

1) It is used for comments and messages in front of the program./ g T & qHe m
3R A4 & fore wged fear @

2) It is used to skip program blocks./ g U S &l B RISE! ek ﬁmugaa g %

3) It is used to indicate program number for ISO standard./ g ISO HIAdH & fore giumm
e R A & o g BT §

4) It is used at the end of each program block./ g U URITH AT & 3id A Uqad fﬂ?ﬂ %

Q 67) When should a CNC linear interpolation command never be used?/ Y CNC TR

ZCRAIATH HHIS Hd TIad ol a1 Afeu?
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1) For programs longer than 27 lines/ 27 Fﬂg:ﬁ | at% PIEIEEANE

2) Outside the work area./ G &%r & CIRRS

3) For canned programs/ &S TTH & 1%1@

4) With projects using 4 quarter addressing./ 4 B Q%ﬁl’rf TR A dTal \I\ﬁdri\{-l &
NIE

Q 68) The input applied to an Inverting amplifier is / sqalé'll TR
WAMEYe gy

1) Equal to non-inverted output/ A--37d¢ 8 TI3CYC P SRIER
2) Equal to Inverted output/ Sﬂdgs 3T3cYc P R

3) Not equal to output/ ST3CYc & RIS gl

4) None of these/ E:Iﬁ I a%‘lé :I%)[

Q 69) With CNC programming it is good practice to program a rapid motion in axis at

atime/ CNCUURIT S U USRI H ¢ & Jof 1 ) T 631 Teb 331
3T g |

1) 4
2)3
3)2
41

Q 70) Which of the following is not the advantage of CNC machines?/ g o Q@ o
CNC AR &1 a1 781 82

1) Higher flexibility/ 3o TaieTd=

2) Improved quality/ Wgﬁ"

3) Reduced scrap rate/ PH 33

4) Improved strength of the components/ Q\_rﬁﬁ dER q\_rl_q\?ﬁ

Q 71) The machine tool, in which calculation and setting of the operating conditions like
depth of cut, feed, speed are done during the machining by the control system itself, is

called / AR 3SR, Forrd e feror yomeht gR1 A=fif11 & SR Fe &t e

1) Computer Numerical Control System/ O'PUELCQ 'CLLDI RETY ObUg\Iﬂ Ry
2) Direct Numerical Control System/ W& TATHS AT JUTelt

3) Machining Centre System/ TRAfAT &g gomett

4) Adaptive Control System/ &W [GRELRNINI

Q 72) In CNC machine tool, the part program entered into the computer memory/ CNC

T=iH ¢a H, hgex TAR! & STa 1 U &1 4T -

1) Can be used only once/ FHad Uh dlR TR E)P[ Hohdl %

2) Can be used again and again/ R dIR TN Eﬁ b dl %

3) Can be used again but it has to be modified every time/ B Eﬁ'ﬁﬂﬁ foaT ST g ar %
difch 39 g IR =N foar ST gRm

4) None of these/ 3_'{3[ I a”ﬁé '_-|_6°f

Q 73) The angle between the isometric axes is / FHIHAT 31eff & e ol B0l

10.6.60.71:8080/gbexcel/admin/Download.aspx?id=89 12/28



7/27/2019 10.6.60.71:8080/gbexcel/admin/Download.aspx?id=89

BIdl g

1) 180 degrees/ 180 f&Ut
2) 60 degrees/ 60 &
3) 90 degrees/ 90 &
4) 120 degrees/ 120 f&3ft

Q 74) Which of these is not a mode of program execution?/ ERLE DI 1 9re e
BT TPT T &7

1) Single block/ Rl T
2) Dual/ g3/

3) Manual/ fl?gerla

4) Auto/ 3irc

Q 75) Which of the following does all the work of lathe machine?/ fgay DI WG
TR BT URT S Il 52

1) Turning centre of CNC type/ CNC UhIR Pl T dg

2) Machining centre of CNC type/ CNC YR T AR G-

3) Turning centre of CNC type and machining centre of CNC type both/ CNC UP R b
e &% 3R CNC TPR &1 AT S5 gl g1

4) None of these/ ERLCEY ﬁé I8l

Q 76) Surfaces produced by straight and cylindrical grinding tools tend to create which type

ofroughness?/?ﬁé]&ﬁqawm Sﬁﬁrﬁmﬁiﬁawmwmw
EHERGIES

1) Regularly spaced but directional roughness/ frafig gﬂ R dfed Gemd® R OE |

2) Regularly spaced but non directional roughness/ faftg @ R Afp famr femm - fAcwr
CIRCANIE]

3) Irregularly spaced but directional roughness/ sifafig EBBI IR dife foxmare® graxiy-
4) Irregularly spaced but non directional roughness/ sifafia gﬁ R oifep fomr fa= -

BN RERI L]
Q 77) Which of the following process has lowest cutting speed?/ BEEE DI ufshar Bt

e Fers i 82

1) Drilling/ TS
2) Honing/ 6;”51‘ |
3) Milling/ TAIfcHT

4) Turning/ cfe

Q 78) Which of the following is a surface finishing operation?/ g & Q o ddg
ORHRUT e 52

1) Drilling/ fSfeiTT

2) Honing/ gl

3) Milling/ fHIfeiTT
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4) Turning/ cfe

Q 79) Which type of surface is produced by turning operation in lathe machine?/ WRIq

H o orf gRT {59 U R &1 gdg &1 fRafr gl ge

1) Flat/ JUT€
2) Cylindrical/ STHIBR
3) Taper/ TR

4) None of these/ ST A BIS T8l

Q 80) Downmilling is the process of removing metal by a cutter which is rotated

direction of the travel of the workpiece./ ST3AHICHT HeX FARRCILS Gl EETa \_rl'lef I Ufchar
o fomd & gmar g forw adh i e g

1) In the same/ HHIA

2) Against the/ & fata

3) In a circular pattern/ Qﬁ'l'q Y o
4) None of these/ 3_'{3[ I aﬂ's‘ '_-|_6°f

Q 81) What is the unit of length, mass amd time in MKS system? / W quTTent H F‘i_dlg,
SSIHM 3R THT &1 SHTS T 32

I N .

1) Millisecond ,Kilohertz, Second / W, I?bﬂ\lsq\fl, Hdh S
2) Meter, kilogram ,second / IﬂET, ﬁﬁ’ﬁ'ﬂm, Jqbhs

3) Mile, kilogram, second / Iﬂﬂ, mum, dHhs

4) Millimetre, kilobytes, second / TlelHIeR, forcliamge, Tdbe

Q 82) What is the Unit of thermodynamics temperature in SI system? / W&ﬂg PIINIE]
ST T (UETSTEATHERT) aTIHH &1 3aTs 182

1) Kelvin / Piea
2) Degrees / &p]

3) Fahrenheit / Cﬁliqg IgC
4) Celsius / TR

Q 83) Which term is not included in the title of the sheet? / 2fie & e & B AT s
RIENERE

1) Scale / T d

2) Method of Projection / UioteR &1 fafdr
3) Size of sheet / e &1 TSR

4) Sheet No / e

Q 84) Which type of the lines show the outline of the feature of an object? / g UHpR &t
AT fort o 1 fa=ISTaT Bt I uRdT I el 82

1) Type B/ TI3U ot
2) Type C / C130 T
3) Type A/CIU T
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4) Type D / TI3U 81

Q 85) At what degree the Hatching lines are drawn to reference line? / Teuf v ¥ fog
fedlt R BT Xarsft &1 Wiar o g2

1) 450
2) 600
3) 300
4) 650

Q 86) What is the result of the Conversion of a number 21.72 to fraction? / =T 21.72 B

e § g ol URUMH 1 82

1) 513/25
2) 533/25
3) 543/25
4) 563/25

Q 87) Skew Lines are also called as / foRBY Y@n3ii | el SIldl %I

1) Perpendicular lines / cTHIdd WTQ
2) Equal lines / Wm

3) Agonic lines / HIUL- ?I%("l W

4) parallel lines / Wm

Q 88) Which types of angles are represented by given figure? / al Tlg G‘I'@ﬁf R foyg
TR & DI0N BT Ui foam ST 82

1) Corresponding angles /3{I¥=U CALY|
2) Alternate Angles / PI0T

3) Interior Angle / 3fiaRked Hior

4) Whole Angle / ﬂtgﬂfaﬁm

Q 89) The “of” in the BODMAS full form is also called ./ BODMAS %thfQ?qfr
of 1 CIISISI

1) Order / hH
2) Out / §T&R
3) Only / Had
4)On/ ™|

Q 90) What is the result of the expression using BODMAS rule? 15 - (-5) {4-7-3} +[3{5

+(-3)x (-6)}] / BODMAS {99 &1 UGN b 3Hfaafad o1 afRumA 1 ]2 15 - (-5)
{4-7-31 = [3{5+(-3) x (-0)}]

1)16

2) 15

3) 17

4)20

Q 91) The sum of interior angles of a quadrilateral is . %@Jﬁr & 3dRD
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HI0 BT AT B

1) 180
2) 90

3) 360
4) 270

Q 92) Which term is used to represent the time interval after which alternative current
voltage or current repeats its value? / 3 3RTA BT IUTANT IHYT SfaRTdl BT Ufaffda
TR & fore o ST | fores a1e I fetiss e diees 1 Hee 30 Yoo &l IgRIdl

1) Wavelength / dqay
2) Time period / HHY I
3) Amplitude / 3ATITH

4) Frequency / G'ITQR'T m

Q 93) The shape of the Kite is defined by / OcTT 1 3R gRT
i fasam T 81

1) Square / DR

2) Quadrilaterals / TqY
3) Rectangle / ATId

4) Pyramid /

Q 94) The Conversion of a number .55 to a fraction is / AT .55 DI TDh
EN g .
ThaR H TRl gl

1) 9/20
2) 7/20
3) 11/20
4) 6/20

Q 95) The number 1.09 can be expressed in terms of percentage as / I 1.09 CARCIGE|
& ¥ H oo fohaT oI Javdl &:

1) 1.09%
2) 10.90%
3) 109%
4)0.11%

Q 96) There were 50 pages in total. Ram had seven pages of his book left to read. What
percentage of pages did he have left? / $d 50 T3 9| M & U™ qﬁ CANREED Ui
& Id U=l Y | IHb IR foba Tfa=rd ual =Y 2

1)35
2) 14
3)17
47

Q 97) An orthographic drawing is presented by ./ Uch e slgll
ERESESCREDIISIGIE] -
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1) 2-D view / 2-31 T

2) 3-D view / 3-81 €-9

3) section view / YR &Y

4) 2D and 3D view / 2 St 3R 3 S T

Q 98) Conversion of 4% to a fraction is ./ 4% DI ibd*&l-—l EESCIGRY
gl

1) 1/25

2) 4/25

3) 3/25

4)7/25

Q 99) What is the area of circle if ( r is the radius of circle)? / i (rdgd CARERS| %) dr gd
BT &AHBA HI BN

) n*r?

Dn+2*r
J)n*2*r
4)  *2*r*r

Q 100) What is the perimeter of parallelogram if (a and b are the two sides)? / gfq (a 3R b
3l Yol §) o iR Ty ot uRfy g 2

1)(axb)
2)(a+b)
3)2*(atb)
4)4*(@a+Db)

Q 101) What is the mass of the block ,if Volume is 5 cm3 and density is 250 g/cm3, ? / gfq
3T 5 cm3 § 3MR I 250 g/em3 @, I AT BT GoTH T T2

1) 125 gram
2) 1250 gram
3) 12.50 Kg.
4) 12.5 gram

Q 102) The diameter of a circle is the ./ Uch g p A %I

1) longest cord. / Y el Pl |

2) same length cord. / Uch 33[ FITSITEC CAKAR]
3) shortest cord. / a4 Bt dls |

4) not a cord. /ﬁﬁ%l

Q 103) A Geometric shape has 12 edges, 8 Vertlces ,6 faces 1s known as

ST 3epfa # 12 fbR (@), 8 B @ﬁ@ﬂ)x’rﬁ%aﬁm@?f%aﬁ

& ¥UH T S8

1) Cube / G98
2) Triangular prism / B oG fUsH

3) Pyramid /
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4) Frustum / IEEED

Q 104) Which of the following is not the example of physical properties? / fFofeaa o 9

DI 1 Hifdes T[OT BT 3180l gl 82

1) Density / Ydcd

2) Mass / <SHIH

3) Weight / dolq

4) Hardness testing / G RGIRRIEALY|

Q 105) The boiling point of a compound is the temperature at which it changes from
./ T P BT HYATP (STafelT Uls—) 98 dTgqH gidl & o/ IR I8
¥ Seadi gl

1) liquid to solid / IRE ¥ 319
2) solid to liquid / 31 ¥ TR
3) liquid to gas / dXdl 19
4) gas to liquid / T J IR

Q 106) Which is the liquid at room temperature? / HIR & ATIHMA TR B ad gl %‘?

1) Copper / ATl
2) Mercury / URT

3) Iron / drel
4) Lead / IS

Q 107) Which of the following is not an example of parallelogram? / Fafafaa A d oM
T JHIR IGHS BT ITER0T T81 82

1) Square / DR
2) Rectangle / 31dd
3) Rhombus /

4) Triangle / FAPIOT

Q 108) What is the process of heat transfer from hot to colder body without heating the

space V/WﬁﬂﬁmmﬂﬁﬁﬁaﬁﬁﬁWﬁmW%9

1) Absorption / {TRITHUT

2) convection / Hdg-
3) radiation / fafeRur

4) conduction / Ydlgptd

Q 109) The Moon s gravity is than the Earth s gravity. / AGHT BT ‘\J,bchObBIrUI
T2t & ATl b1 ga-T # gl

1) More / 3%
2) Less / PH

3) Same / JHIH
4) Can not be defined. / gRHI ot foedT ST TepdT|
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Q 110) Mass per unit volume is called ./ GHAM Ufd '$<lr>l’$r AT (HIH UR
gHc aregH) Bl E SIS

1) Density / Ydcd

2) Molecular weight / 3uifas go

3) Molar mass / 3{U[ HIX

4) Mole fraction / 3{U] 37T

Q 111) A solid ball has a mass of 100 grams and a radius of 2 cm. What is the density? /

T 319 e BT gegHM 100 I 3R Boan 2 I 81 v R g2

1) 3.98 g/cm3
2) 2.98 g/cm3
3) 1.98 g/cm3
4)4.98 g/cm3

Q 112) Young s modulus is equal to elastic ./ T AUih ('HTW W
F WER |

1) stress/strain
2) stress*strain
3) stress+strain
4) strain/stress

Q 113) The behaviour of a material, if deformation is irreversible and permanent, is

called% ./ gfe fa=gur SruRad-ty 3Nk R @ ol It & SIdgR &l Go|
ST g |

1) Elastic / SATRC®H
2) Plastic / @I
3) Hard / o

4) Soft / goaH

Q 114) Force divided by area is called ./ &3 g1 faurioa s &1
FHEIACI 5|

1) Stress / cdId

2) Strain / d-Td

3) Mass / *SUHIH
4) Volume / AH1Id-

Q 115) The fracture stress where material breaks is called ./ STgT aqrEt cC STl
& 951 IhaeR a1d B! EREIGI

1) Tensile stress / d=Idl Gdld
2) Ultimate stress / ¥ qdId
3) Breaking stress / T+ Gald
4) Elastic stress / Eﬂm odld

Q 116) Which substance is not act as conductor? Eackll q‘cmf O CIRES » ® U H dr>lqc:|€f
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1) Iron/ T‘h?T

2) Aluminium / 3gHIIH
3) Rubber / ¥dX

4) Copper / GIEL

Q 117) What is the frequency of AC current? / T HRe B &n'q’i%r (W\Eﬂ) T %?

Ho

2) 50 or 60 Hertz
3) 5 Hertz

4) 100 Hertz
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Q 118) Which device is used for measuring relatively high temperatures, such as furnaces

temperature? / HISTT & ATUHM SR 3{U&THd 3 dIYHH B A9 & g [ SuaHRum
T IUTNT foha ST 82

1) Ammeter / UfATeR
2) Nanometre / AR
3) Pyrometer / Cllsilrilaz
4) Thermometer / YA
Q 119) The formula used for electric power is o ﬁ?ﬂ_d ifad & forg Ugod A
&l
)P=Whi
2) p=w*t
3) P=W+t
4) P=W-t
Level 1 Answer key
Question . Question . Question . Question .
No. Option No. Option No. Option No. Option
1 2 31 1 61 3 91 3
2 1 32 2 62 2 92 2
3 2 33 1 63 1 93 2
4 2 34 2 64 1 94 3
5 2 35 3 65 2 95 3
6 2 36 3 66 4 96 2
7 1 37 4 67 2 97 1
8 2 38 1 68 2 98 1
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9 2 39 3 69 4 99 1
10 1 40 1 70 4 100 3
11 1 41 3 71 4 101 2
12 1 42 1 72 2 102 1
13 2 43 1 73 4 103 1
14 1 44 4 74 2 104 4
15 4 45 2 75 1 105 3
16 4 46 1 76 3 106 2
17 2 47 3 77 2 107 4
18 1 48 4 78 2 108 3
19 1 49 4 79 2 109 2
20 4 50 2 80 1 110 1
21 2 51 1 81 2 111 2
22 4 52 1 82 1 112 1
23 1 53 2 83 3 113 2
24 1 54 3 84 3 114 1
25 3 55 1 85 1 115 3
26 4 56 1 86 3 116 3
27 4 57 1 87 3 117 2
28 4 58 1 88 2 118 3
29 2 59 2 89 1 119 1
30 1 60 1 90 2

CNC Operator Level 2

Q 1) Several machine tools can be controlled by a central computer in------------ m e
SUDRY T held HELR gRI 37 FEfd fobar o wepd g---
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)N C /G &t
2)CNCAATTH

3)DNC /ST 4t

4) None of theseE_flﬁ ﬁaﬁg:ﬁﬁ

Q 2) Part- program can be avoided in---------- /OTE I & TTaT ST e % ------

)N C /AT

2)CNC/Hi w4t

3)DNC /ST

4) None ofthese@ﬁ@ﬁé 'J-ﬁ:lﬁ

Q 3) In 25 H7 form of tolerance H stands for-------- /25T 7 cTeNg U H ud m

1) Basic size /Hd TP

2) Grade of tolerance/CINY BT IS

3) Fundamental tolerance/TSMHEd TRy
4) Fundamental deviation/T8Hcd SfAURHE

Q 4) Which of the following alloy is added in h s s for red hardness?/f 9 & T 1 1 iy
ATl BRI & oL T T T H ST Sl 62

1) Chromium/hITHIH
2) Nickel/[Hdl

3) Cobalt/®IaTee

4) Vanadium/da1Saq

Q 5) The straddle milling is an operation of@@'{a fafeT sgr SR %

1) Producing grooves around the periphery of a work piece/Ud IHUNT Bt uRfy &
3TUTY Yoy b1 AT

2) Producing narrow grooves on a work piece/Ud> JHUN TR G 10 Aoy T 70T

3) Reproduction of an outline on a work piece/Uch JHUNY R 33 dl Y g1

4) Machining several surfaces on a work piece simultaneously/TUd JHUN IR HHAR ﬁ
Gty B HRAT BT

Q 6) Which of the following is used to hold the machined work piece?/&l’ﬁﬁ‘l@ﬁ o3 g
AR gh U P U & forw v fvar Sirar 82

1) Collet/@Ifere
2) Face platem @i
3) Four jaw chuck/®R SIf I

4) None of theseﬂ_"lﬁ | ﬁé i :Iﬁ

Q 7) . Generally the helix angle of slab milling cutter is ----------- TG Te el Her
CINENESE]
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1) 59 degree/%"}ﬂ
2) 20 degree/%"}ﬂ
3) 30 degree/%")ﬂ
4)25 degree/%"}ﬁ

Q 8) Coolant used in milling m/c is known as/TH /AT et & v fosar man W %

1) Air/gdl

2) Water/dT1

3) Soluble oil/ g 3HiTd
4) None '

Q 9) The main purpose of a reaming operatlon as compared to drilling is to/Ud {IEE

SRR &1 T 31 fefei &t g 4

1) Drill a hole/Ush ©4 fgd
2) Finish the drilled hole/f$a gidl @1 fOhf=T

3) Correct the hole/&5¢ TGl BT
4) Enlarge the existing holeﬂﬂ“‘lﬂ‘[ B ESI

Q 10)% Solubile oil is used as cutting fluid in/[dT I H B g g b = | YIRT fbarm
EIG

1) Sawing/‘v'l'\ll_sf'r[

2) Reaming/RITH

3) Drilling

4) All of these/d TH

Q 11) Where should you aim the fire extinguisher when using it?/ 3 HS BT TN B
THY 3] IHD] 7T b 3R @1 =12

1) On the tip of the fire/ 3T & RR TR

2) On the base of the fire/ 3T & aqd IR

3) Don t aim in one place. Spread it out/ sl Uh WM IR A& A ﬁ| = a7_("ITQ
4) The direction of aiming doesn t matter/ TT&I ®1 T A T81 @l

Q 12) Which machine tool is known as the mother machine tool?/ HGX =i 3SR & =7
o i1 7RI SR ST STl 82

1) Drill/ fg@

2) Milling/ AT
3) Lathe/ WRIq
4) Pulley/ gait

Q 13) Three jaw chuck is also known as / 8t ST b Y it Wﬁﬂ?ﬂ%\

1) Universal chuck/ qﬁaﬁ?{ ddh
2) Self-centering chuck/ W-hi=d b

3) Universal chuck and Self-centering chuck Both/ W 3R W-Ffxd T% gHl Bl
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4) None of these/ ESEECIERE]

Q 14) Which of the following is not true regarding four jaw chuck?/ BRI 9% & gN |

g H Qo g T8 82

1) Each jaw can be adjusted independently./ TS Sl DI Wad =0 ¥ AT fooar o
qhdl §

2) Movement of jaw is irreversible./ S &1 Faa- URad-a %

3) Movement of jaw is done by the help of square threaded screw./ ST BT Idd WhIAR
ISS T ! Teradl ¥ fora Srar |

4) It is also known as dog chuck/ T€ ST I & A1 I it ST 51 §

Q 15) With CNC turning machines and preparatory codes what does a GO1 represent?. CNC

e 7= SR TR wigw & Iy Go1 F gfdr g?

1) A code that allows the tool to dwell at a location./ Udh PIS S Udh R IR K CINCANCE]
G B AN AT 7

2) It instructs the control to move rapidly to specific X and Z locations./ g 37_0@?{ Cal
fafafdy X ok z =M WR Aol A Taad w1 R 3ar®

3) It is a linear interpolation feed rate code./ Ug WW m:[ Ble R PIS %

4) It directs the machine control to use workpiece coordinate values stored in memory./ g

A B B HARY H GURT dehUId DISHITSAC deg UaNT i &1 Fe=1 ar g

Q 16) The coolant system of a CNC machine would most commonly be a

pump./ CNC T2 Pt e Yurmelt 3R R Tad i UU gt g

1) Low pressure/ 9 GId

2) Medium pressure/ H¥HH qld
3) High pressure/ 3= qld

4) Gravity/

Q 17) What is zero suppression when dealing with CNC machines?/ CNC TR IR H1H
FA T I &a1d T Il 67

1) It allows dimensions to be written without the zeros in front of the decimal point./ g
=T foig & T STE 6 I & o ford o ot ergufa Sar g

2) It is used to reduce the number of zeros in the full format dimensions./ g U;Uf tﬁﬂ?
3T & T P T Bl HH PR P (oY U Bidl §

3) It allows dimensions to be written without the zeros after the decimal point/ g GRIHAI
foig & 91 ATl &1 A & foT ford S &1 SiAfd ST &

4) Where eight digits are required for each dimension./ GETW H & ISR
T3l Bt STaadhdl gl 8

Q 18) Which of the following operations will produce a hole with 45 degree chamfers?/ 45

et & fore frm afed g o @ o &1 te ©¢ o1 fAAfor sam

1) Blind hole drilling./ ST S Bl [SefT
2) Spot drilling./ ¥JIc Igl%l‘l
3) Center drilling./ JUSR fSfefT
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4) Counter sinking./ PT3cX i

Q 19) In NC (Numerical Control) machine tool, the position feedback package is connected

_Eae%\jrve%en/NC AR®T HUeid) AH ¢ H, TIoiRH Biedd dael & A T 3T
|

1) Control unit and programmer / EIO_U@FT 3R TRITR
2) Programmer and machine tool/ TR ERIE cd

3) Control unit and machine tool/ FRIH ed 3R mﬁ ’Cﬂ%l?f
4) Programmer and process planning/ TR 3R TR W@

Q 20) DNC stands for _ / DNC ¥ 3112 8-

1) Digital numerical control/ fefored *ﬂ\ﬁl Revd & Uc;jl N
2) Direct numerical control/ STURGC FH[R P ] pUC]c]
3) Double numerical control/ Sd¢l YJHIRh ¢l b U]

4) None of these/ ECREIERE]

Q 21) What is the result of addition of the following numbers (14.02, 198.3, 394.051)? /

fafeRad Twemsil & siea o1 uRomd T | (14.02, 198.3, 394.051)?

1) 506.375
2) 606.371
3) 708.786
4) 646.456

Q 22) An angle whose measure is more than 180° but less than 360° is called

a ./ U DIUT fSRIhT ATT 180 © I 3P g, Afh 360 ° A HH g, I
PET AT

1) Acute Angle / =g D10

2) Reflex Angle / gfafds ®iur
3) Obtuse Angle / GEETL
4) Whole Angle / FCI;UTW

Q 23) Which of the projection converges at a vanishing point? / DI T T Ueh qtd ﬁg
TR gRafdd gia 82

1) perspective / giReg

2) parallel / FHMIAR

3) orthographic / KD e
4) oblique / GRI&f

Q 24) What would be the shape of solid if a right angled triangle is made to revolut about
one of its perpendicular sides ? /tﬁ%@ﬂﬂaﬂm ﬁﬂ;ﬁf P ISP dedd QI“j\&hﬁ q Wﬁ
T B & Q1T ST STl § Al 31 Uerd FT 3THR T g1

1) Sphere / dd
2) Triangular prism / BT Tred

3) Cone / RIPp
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4) Cylinder / Riciex

Q 25) The degree of closeness of the measured value of a certain quantity with its true value
is known as ./ U A% IR & A0 U g ot 39 ardfddh G & 1Y
e & fgdt & & ¥ T IS5 |

1) Accuracy / R&dl

2) Precision / J&HI

3) Standard / HIHP

4) Sensitivity / HagT=iTerd

Q 26) What is the boiling point of water at sea level? / ﬂ'ﬁff TR R UH BT HYidH
(STafenT ufgwe) fam g2

1)212°F
2)214°F
3)216°F
4)202°F

Q 27) The property of metals by which they can be beaten into thin sheets is

called ./ 4T3 BT I8 0T ForIdh gRT S9! Udall }iTed §-18 off Iahel! §
Rl EHISIGIN

1) Malleability / IXHdT
2) Ductility / T

3) Conduction / Ydlghtd
4) Expansion /

Q 28) is the form of measurement that depends on gravity. /

A HT UHR & ol Te@rdyu R ik dxar g

1) Weight / dusid

2) Mass / gHIH

3) Volume / ATId

4) Acceleration / «dXU[

Q 29) What is the density of water? / Ul &1 99 fopdmn %‘?

1)1 g/cm3
2) 100 g/cm3
3) 10g/cm3
4) 20 g/cm3

Q 30) A truncated cone or pyramid is called as ./ T @fvsd W 1 fofire &t
EREIGI

1) Prism / s

2) Frustum / feod
3) Pyramid / NI
4) Cube / Y

10.6.60.71:8080/gbexcel/admin/Download.aspx?id=89 26/28



7/27/2019 10.6.60.71:8080/gbexcel/admin/Download.aspx?id=89

Q 31) Which direction is not used to draw object in orthographic projection?/ e
oo H Sifsoide 1 Blaw & forg ford fa=m &1 SudiT 81 fova STt §

1) Front Elevation, / AT Bt d.ot{li“:
2) End Elevation / 3{d Ealé
3) Plan / GISHT

. c
4) Top elevation / $HUR B HTg
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Level 2 Answer key
Question No. | Option Question No. | Option
1 3 31 4
2 2
3 3
4 3
5 4
6 1
7 3
8 3
9 2
10 4
11 2
12 3
13 3
14 2
15 3
16 3
17 2
18 2
19 3
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Y z
21 2
22 2
23 1
24 3
25 1
26 1
27 1
28 1
29 |
30 2
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